Exercise 2.6
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1. Anopen rectangular box has dimensions [0c¢m by E
Sem by 4.em, as shown.
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2, 'The diagram shows a vertical radio mast [BT] which stands [ /{* s
al the corner of a horizontal rectangular plot ABCD s I T S T '25:-1?;_ =
The mast is 12m in height and BC| = [5m, o PPhi T T -
The angle of elevation of the top of the mast from A is 25", g = de= 2S5 Fo
(1) Find the length of [AB]. A 29\J [“ " (1) A -
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3. A balloon X is 200 metres vertically above a point Y on level ground. .
Two points P and O arc also on level ground. 9
The angle of clevation of X I'rom P is 487, ~
The angle of clevation of X rom Q is 347,

(i) Find |[PY| and |QY| correct to the nearest metre.

(i) If | 2PY Q| = 84°, find |PO| corrcct to the ncearest metre. 200m
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4. In the given model of a ramp. ABCD is a horizontal E
rectangle and ADEF is a vertical rectangle.
Find (i) |ZABF|

(i) |AC|
Giii) |ZACEF|.
Give cach answer correct to one Yem

decimal place.
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PO and R are points on a horizontal plane.
[PD] is a vertical mast.
The angle of elevation of [D from R is 60°.
If |IPQ| = 5m., |OR| = 3m and | ZPOR| = 120°,
find

(i) [PR]|

(ii) |DO|, corcet to the nearest metre.
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6. A tentin the shape of a pyramid has a square base of side |~ — ..Cg-é (4] [A£] ﬂ‘# y‘zﬁ‘f/ ﬂf;?am/ gﬂ&{e_

3 metres and a central vertical pole of height 2.5 m. o 2

(1) Calculate the length of the slanted edge [AE], [ S 7713 z': > 2% z*
correct Lo one decimal place. | e 0L e L3
(i) Find the total arca of the four triangular faces. s ﬁ' Pl x = Ji¥ .
Give your answer in m?, correct to one ;:.__H 3 B =2 5 3{’ base = V'2 ”m
decimal place. i
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: solid figure shown, ABCD is a horizontal rectangle =l e e
8. In the solic figure shown, § & onti e — =
and ABFE 1s a vertical rectangle. = N { S i o
M is the midpoint of [CD]. el — = e =i
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Grive each answer correct o one decimal place, I —wer i‘; T
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9. The diagram represents a right pyramid.
The basce is a square of side 2x cm.
The length of each of the slant edges is 8V/3 em.
The height of the pyramid is x cm,
Calculate the value of x,
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10. The given diagram shows two walls of length 10 metres and 5 metres mecting at right angles.
The height of cach wall is 4 metres
-
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Calculate the distance between the points A and B on the walls
Grive your answer in metres, correct to one decimal place.
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11. The given figure shows a vertical wall TUVS four
metres in height.,
From a point O on level ground, the angle of
clevation from O to U is 60” and the angle of
elevation of T from O is 30°. J CQ Il '
If |ZSOV| = 60°, find the length of the wall [SV]  — — 5 =
in metres, correct to 1 place of decimals.
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12. The given figure shows three vertical poles
supporting a tmangular roof RST.
|AB| = |AC| = 10 metres. |AR| = 6 m,
ISB| = I TC| = 4m and |BC| = 6 m.
(i) Find the arca of the shelter ABC.
(11) Find the arca of the rootf RST.
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13,

The diagram shows a
plane hillside, which
slopes at an angle of 417
to the horizontal. The
vertical height of the
hill is 105 m. A straight
horizontal road ABC
runs along the bottom
of the hill. A funicular J
railway AT runs straight ~N =

up the hillside. . _{{-—/—”1’5—6“,“

(i) Calculate the length of the railway [AT], correct to the nearest metre.
A footpath goes straight from B to T, where |AB| = 300m
(ii) Calculate the length of the footpath [BT].
The straight road CT has a‘gradient of 1 in 537 meaning that it rises one metre vertically for

every live melres travelled along the road.
(i) Find the length of the road [CT].
(iv) Find |[BC|. correct Lo the nearest metre.
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14.

In the given diagram., a pole [EA] supports an inn sign.
The pole is perpendicular to a vertical wall and is
supported by two wires [AB] and [AC].
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The hooks at B and C are in a horizontal line and
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to the nearest centimeltre. 7 T oy I, = = z
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